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a sini=nsing = na

O=i—a=(-Na 3.2.2
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v, = A cos(kz — wt)

v, = A, cos(—kz —wt + ¢) = A, cos(kz + ot — @)
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w =y, +y, =Acos( kz — ot) + Acos( kz + ot — @)

= 2Acos( wt — %) cos( kz — %)

ot kz
z=0 =0
o=
w = —-2Asin otsin kz  3.2.3
| =4A%sin’kz  3.24
z=0 1=0
kAz = 2—”Az =7
A
AZ = i 3.25
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3.3.2 Fresnel

E., n,cosi,—n,cosi,  sin(i, —i,) 331
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Ei,  n,cosi; —n cosi, tg(i, —i,) 330
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E,, 2n, cosi, _ 2sini, cosi, 333
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Fresnel
E = Aee™ ) E o Ae"

3.34

Ae"



Fresnel
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n
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L+, =712 tan(i, +1,) = r.=0
__sin(i,—i,) J>0, n>n,
sin(i, +i,) |<0, n <n,
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3.3.1

B C
CD CD P

P n,(AB+BC)—n, AD

AB+BC =2h/cosi, AD = ACsini, = 2htgi, sini,

n .. 2h ..
0 =2h(—2——ntg,isin,) = n,—n,sin’i
(COS|2 1 g2 l) COS|2 ( 2 2 2)
= 2n2_h (1-sin’i,) = 2n,hcosi, = 2h/n? —n?sin’i, 3.3.1
cosi,

Al2

&' =2n,hcosi, + A/2=2hn’, —n?sin®i, + 1/2 332

2hy/n? —n?sin?i;  2n,hcosi,=(2] +1)% 333
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2hyn?, —n?sin?i;  2n,hcosi,= j4 334
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n, =n, r=r, t'=t,  Stocks r'=—r
tt'=1-r? 1 2 1r 2
A =Ar 335

A, = Atrt' = Artt’ = Ar(1-r?)
A, = Ar’tt' = Ar’(1-r?)

A, =Ar*(1-r?)
n>1 A =Ar*"3@1-r?) 336

A = Att' = AlL-r?)
A = Ar?(1-r?)
A =Arf(l-r?)
A =ArftP1-r?) 337

r<<l1 A=A>A>A>--

A >> A >> A >>
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2hyn?, —n?sin®i, = (2] +1)§ 3.3.7

2n,hcosi,=(2] +1)% 3.3.8

=0 L=i,=0 cosi,=0
n,h
2
J h Iy il h I
3
Al j
2nhsini,Ai, = -4
Aiz = —# 3.3.9
2nhsini,
h
4

1(i)= A’ + A2 +2AA, cosAgp
A=Ar A =Atrt'=Artt'= Ar(l-r?)
2 Arx

A¢:75’:7n2h005i2 tr 3.3.10

1(i)= Ar’[l+(@1-r*)* +2(1- rz)cos(% n,hcosi,)]
. . A . . .
2n,hcosi,=(2]j +1)E 2n,hcos(i, + Ai,) = JA4
2n,hsini,Ai, = 1/2
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Ai, = A/4n,hsini, 3.3.11
Ai,
3.3.2

n,(AB+BC)-n,DC

2hy/n?, —n?sin?i;  2n,hcosi,=(2] +1)%

2hy/n?; —n?sini;  2n,hcosi, = jA

1 2
2n,h
A
Ap= Tnzh tr
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2n,h = (2] +1)§ 33.11

2n,h=ji 3312

Ah=A/2n, 3313

a Al =Ah/sina=A4/2n,sina  3.3.14
i,=0
A :
2n,h=(2] +1)E L =0
: . A . : : A
2n2hcos|2:(21+1)E i,#0 cosi, <1 (21+1)E

2n2h=(2j+1)§
: i A
2n,hcosi, <(21+1)E

2n,(h+ Ah)cosi, = (2] +1)§ i, Ah
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12
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M, Michelson
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2hcosi= j4 3.3.14

1 MM, M, LM,

)J)J 1) (((

Michelson

A(K) 5
1(K) = 2A2 (K)[L+ cos Ag(K)] = 2A% (K)[L+ cos(kd)]

1(5) = j: I (k)dk = jo’” 2A%(K)[L+ cos(ks)]dk

= I:ZAZ(k)dk + szz(k)cos(ka)dk =1, + I:ZAZ(k)cos(ch)dk
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=1, + j:i(k)cos(ka)dk jo “i(k)cos(ks)dk = 1(8) -1,

lo

i(k) = %jo‘”u(a)— l,]cos kéds 3.3.15 Michelson
5 2h

i(k) i(2)

=i as T E

R
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i /

Sample
M, M, BS, BS,
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S=2nxA/2=ji  2h=jixAl2
R h
h(2R-h)=r? 2Rh—h*=r?

R>>h h=r?/2R

Newton Ring r,=4(j+1/2)AR j=0,1,2

o=2h=jA
Newton Ring r; =«/j/1R =0 1 2 3
R
3.6 ——+Fabry-Perot

3.6.1
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Fabry-Perot

R
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Ui 71 1
fl\i'. U, u, U,
G,

[T ]]

G,
L' — —
A =Ar

A, = Atrt' = Artt’ = Ar(1-r?)
A, = Ar’tt’ = Ar’(1-r?)

A, =Ar*(1-r?)
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n>1 A, = A3 (1—r?)
A = Att' = AlL-r?)
A= Ar(L-1?)
A= A1)

A = Arft D (1—r?)

=+
NN

s=2hn,® —n’sin?i, 3318 A¢:k§:27”5 3.3.19
Po P + 7 n
@, +(N-1)Ap
Jl _ Aiei(m%) — Are'7t®) — Apl/zei(¢0+;r) 3.3.20
p=lrP=lrf

Jn _ Ar2n—3(1_r2)ei[(p0+(nfl)A(p] _ Apn—3/2(1_p)ei[(po+(n—1)Aqo] 33.21

T i(po+7 N n— i[go+(n=

UR — Apl/Ze (o )+zn:2Ap 3/2(1—,0)6 [po+(n-1)Ag]
_ _Apl/ZGi(po n Ap—1/2(1_p)eigoo Z:szn—1ei(n—1)w
_ _ApZL/ZGi(pO n Ap—l/2(1_p)eigoo Z:‘z—llpneinmp

peiA(p[l_ pN—le(N—l)A(p]

=—Ap"%e" + Ap ™ (1- p)e' :
0 o (1-p) - e
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N;m Ap1/2ei(po -1+ (1_/0)‘_3m(p] _ Apllzei(po (—1+ e_iw)
1_pelA(p 1_pe|A(p

T T P & - B
lp =UUp =A p(l—pem'p )(1—pe_iA“’)

AZp 1—e_‘A‘/’—e‘_‘A‘/’ +1 2A% p(1-cosAp)
1-p(e" —e™)+ p> 1-2pCcosAg+ p?

1-cosAp=1-1+ 25in2A—2¢: 2sin? 22

1-2pcosAp+ p* =(1—p)° +2p—2pCOSAp

= (- p)*+ 2p(1—1+ 2sin’ %J = (1— p)? +4psin? A—;’

4psin? Ap |
I, =1, 2 v S —— 332

(1-p): +4psinz 22 1, (=p)

2 ., Ap

4psin® ——

2
A: — ArZ(nfl)(l_ r2) — A(l_rZ)r72r2n — Aopnfl
A=AQ-1?) p=r’
n Ur: — Aopn—lei[(poJr(n—l)Ago] @6

T _\ON n-1,i[gs+(n-1)Ap] _ iog N\ON-L _njinAg
UT _anlpbp e _A)'Oe anop €
1_pNeiNA(0

1 e N — o0

— Aoei‘p(’)
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G, o AL
1- pe

iAp

2
|, =00'=— "
(1—pe"")1—- ™)

A’ A’
- 1— pe? — pe ™ 4 p? T1- 2pC0SAp+ p°

A = A (L-p)* = 1,1~ p)*

I
I, = 2 3.3.23

4psin? 22
PN

1-p)?

1+

/1,
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3.6.3

2jTt

Agp +el2 1. /1,=1/2

4psin’ s ap()?
psin p%) e’

~ - ~1
1-p)* (@A-p)° 4Q1-p)
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1
A¢j=27”5=47rn2hcosi2/ﬁ o|(A¢;j):—4ﬂﬂzf;’inizdi2
d(Ap)=¢  di,=Ai,
AiL = ﬂ,g-_: /1-_1—p
4rn,hsini,  2zn,hsini, \[p
0 h Al
Ai, = A/4n,hsini, F—P
2
A, :E_anhcosi2
A, AL

d(Ag,) =—(4zn,hcosi, /A%)d A, = ¢

2
IV . A

_ 1-p
b 2zn,heosi, [p jr \Jp

h Yo, Ai,
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3
2nhcosi; = j4  2nhcos(i; +6i) = j(4 + 1)

_onhsini di, = jdi = si=— )
2nhsini,
oA
A+ 81
-
J+1
A j+2
oi
Ai
ol =Ai
Taylor
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j 2 1-p

ol=——"—0A Al = o1 > Ai
2nhsini, 2znhsini, /p
TR P ECR A PO
2nhsini, 2znhsini, /p ir \p
5,1211__'0
iz \p
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